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** NOT EVERY LINEAR SYSTEM HAS ONE SOLUTION!

EXAMPLE 1: Solve by graphing


1)  
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2)  
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- the two lines are __________________, therefore there is ______________

* notice that if equation 1) had been multiplied by 2, it would have been the same as equation 2), therefore there is NO ordered pair that can satisfy both equations



- when a system of equations has __________________,


we say that the system is _______________________

EXAMPLE 2:  Solve by graphing.


1)  
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2)  
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- these are the same equation, therefore the graphs ________________, therefore there are ________________________ 

* the coordinates of all points on the line satisfy both equations, and therefore are solutions of the system


- since this system ____________________, 


we say the system is ___________________








EXAMPLE 3: Determine the number of solutions of each linear system.


a)  
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b)  
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c)  
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EXAMPLE 4:  Consider the equation
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.  Write a second equation to form a linear system with: 
a)  infinitely many solutions  






b)  no solution








c)  exactly one solution
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FPC 10        SEC. 7.6:  PROPERTIES OF SYSTEMS OF LINEAR


EQUATIONS 
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When we solve a linear system, there are 3 possibilities:





1)  intersecting lines	one solution			system is consistent





2)  parallel lines		no solution			system is inconsistent





3)  coincident lines		infinitely many solutions	system is consistent








ASSIGNMENT: pg. 448  #5, 6, 7b, 9-11, 19, 20, 22 a) iii 
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